Task. Dynasty
Historians have gathered data for medieval dynasties. They have prepared cards; on each were recorded two names of noblemen – a father and his son. Unfortunately, the work was not carried out very accurately and in the resulting file was encountered errors and repetitions. However, they have verified that there are no cases in which one person is a successor to itself. Write program dynasty, which checks whether there are errors of the type: one son is recorded with different names of his father in two cards. 

If there are no such errors, the program should display the name of the nobleman, who has left the largest number of generations (this number is less than 100). If there is more than one such nobleman, the program must show this, which name is last in the alphabetical order. We consider that different people have different names.

Input. The first line contains the number of the cards. They may be at most 10 000. For each card, there is a line with two strings, names of a father and his son, each composed of at most 5 small Latin letters.

Output. The name of the first found son in the order of the records in input, for which there are cards with different names of his father. If there is not found such an error, the program should display the name of the nobleman, as described above.

	Example 1

Input
8

aa ba

ga ha

ca aa

ca da

ia ca

ha bc

bc bd

aa ha
Output
ha
Explanation: The output is ha, because ha has two different names of his father.


	Example 2

Input
10
aa ba

ga ha
de da

ca aa

ia ca

ha bc

bc bd

iaa de

da vo
da vo
Output
iaa

Explanation: iaa has 3 consecutive successors: de, da and vo. ia and ga have the same number of successors, but the names ia and ga are before iaa in the alphabetical order.


